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g I aR N 200 g 75 43 | WA %R 10 ke 2, 052
LA = B 250 g 70 64 || U = & 10 ke 3, 348 2, 484
ZEDR B M | 200 g 64 43| TAINE— = B 270 g 388 " 162
EONAE D w5 200 g 86 64 | WD X B 270 g 388 172
Fh&E 2 B 8 ke 3, 024 1,080 | HHEREE £ B 270 g 648 432
LwAEL FoEk L 200 g 97 86 | 7— R AT [ 9 ke| 16, 200 14, 040
7N A £ % 10 ke 648 — | |
FEEEIZA A & 10 ke 756 —
< & AR L 12 ke 756 —
% Y = 10 ke 756 540
L&A & E 10 ke| 2,592 1,080
XwIHh = 5 ke 3, 024 2, 160 .
Aorn = 5 ke 2, 376 =
= b . RE A 4 ke 1, 296 —
B moOE | 150 g 129 118
Lk AbiEE 10 ke 540 —
TmERE AbHEE 20 ke|” 1,620 1, 404
A L2 w5 100 g 162 68
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&5 = T E 1ke |- 1,944 1,080
INE — — — —
A, AE A 1ks 2, 592 75
7 % K B 1ke 2,700 540
#7710 IR B 1 ke 1, 566 756
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